] R R PR R RS Tl 2 B ATk EH IR B e 3

(% AN) (HAL . TH, %)

RO RS04 & O A HEPE =R

X o REA Rk bt PR iAnd=a (A)-(B) (C)/(B)

(A) (B) (C) X100

L. B #/ B # B B 1,052, 528 22.2 1, 208, 939 23.7 A 156,411 Al12.9
2. — s = #H 4 - - - - - -
3. ff OB R O F BB - - - - - -
4, JiE * H 4 1,196 0.0 88 0.0 1,108 1,259.1
5. IR = H 4 3,159, 413 66. 5 3, 300, 773 64.7 A141, 360 A4 3
6. PE % A - - - - - -
7. f A & 329, 408 6.9 353, 509 6.9 A24, 101 AG6.8
8. ik fetd & 194, 219 4.1 231, 317 4.5 A37,098 Al16.0
9. & Iz A 13, 359 0.3 11, 887 0.2 1,472 12.4
% A & H 4,750, 123 100. 0 5,106, 513 100. 0 A 356, 390 A7.0
(% H) (AL . TH, %)

A FOTLARE SRR 304 # J E H R

X 73 LK | Rk Lt LK ] Al bt (A)-(B) (C)/(B)

(A) (B) (C) X 100

1. #& % # 78, 574 1.7 77, 630 1.6 944 1.2
2. PR 55 e fF % 3, 085, 638 68.5 3,221,737 68. 3 A 136,099 Al 2
3. [E B RE £ I B B W& 1, 292, 456 28. 7 1, 285, 042 27.3 7,414 0.6
4. & O OF OE WLoH & - - 1 0.0 Al TR
5. P 53 * ES # 42,150 0.9 44,972 1.0 A2, 822 AG6.3
6. 4 T AYA 4 - - 7,044 0.1 A7, 044 R
7. 18 15 # - - - - - -
8. B x H & 10, 190 0.2 79, 868 1.7 AG9, 678 AB7.2
9. T T # - - - - - -
7 H & 2 4, 509, 008 100. 0 4,716, 294 100. 0 A207, 286 Al 4






